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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese,

1. Answer the following questions : 1x10=10
| OO (RS S il g

(@) If a matrix has 8 elements, what are
the possible orders it can have ?
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() Fil in the blank : o ®p) 1t @)

Al 22 547 F ¢ x+3y y et
' 7T-x 4 0}
% (TR): find the values of x and y.

x S yJ M Sfeqedt |

where x denotes the vol f output.
: VO ELICAOT O EE | (c) Divide Rs. 52 among A, B and C in the

ﬂExCﬂ@Q"”ﬁ@ﬂTﬁ%m| | ratio-%!%—l%.
. . . l = 'L
() Write one difference between matrix and 52 OFIF A, B9 CI HE© 5:3:37
determinant. l SIS Sl I
e i effarsg e @61 A1y Bl ' (d) What sum of money will yield Z 1,407
as interest in 1?12- years at 14% p.a.
2. Answer the following questions : 2x5=10 simple interest.
Y RIS Ced gy g | T2 14% 71 79 % AR Joime 15 e
' | 7o 1,407 5l T "
(a) A. man Spends 85% of his income. If } :
his saving ig 3 37:50, find his salary- f (e) Evaluate (e =) -
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3.

Answer the following questions : (any f’x")

" 5x4=20

TR Rl oISl 25 e i

i 1
(@) 1 @@)A= [2 _1],B=[Z _1]

(b)

and (W) (A+ B = A%+ B2,
find the value of @ and ».
(CST® a ©IF b W [efy 1)

The cost of computer is % 1,00,000 and
its life period is estimated to be 20
years. After 20 years, the computer 1S
expected to cost more by 20% over its
present cost. Find the sum to P€
invested every year at 5% p.a. CI for
20 years to replace this computer.
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The total cost function for producing
x units of a commodity

TC = 300% — 102 +%x3.

Find the output levels at which the
marginal cost is minimum.

x FRAS AN} AR, T AT 7 T
L
TC =300x-10x +—3—x.
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A bicycle agent allows 20% discount
on his marked price and makes 20%
profit on his outlay. What is the market

price of the bicycle on which be gains
Rs. 2407
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(e) If the pth, gth, rth term of a GP are @ (&) "OR [ 939Y
X, Y, z respectively then prove that '

X3 yrP, P9 1, 5. (a) Examine the continuity of the following

_ function at x=3: A 5
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P, q9F, rov 7 @A x = 399510 BEd 9] Te0E SRtz
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xQ—r.yr—p‘zP‘q =11 T .
() I @MW) z=8x°-5x2y 1243, ° . - e if x#3
; ( oz oz | | )i e
show that (&§l9 1) x=2 + 22 = 32 ;
' )xax yay | OB 4 RS =0
4. (a) Integrate (SEFeH 1) DYy +DYs=5 , : -
d d 7
| ; (b) Find = (=L FR ) 2%+2%=5
() I[JLJ_J & i
Jx

(i) y=e*logx
; () I(6x+8)' 3x® +8x +2 dx

| () y=x*
(b) The marginal revenue function of a
product is MR -.g +5x—x2. Find the
total revenue and the average revenue, 6. (a) Define ‘linear programming’ and state
given TR=82 when - 5 5 its limitations. =L
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(b) Solve the following linear programming®®

problem by graphical method : 6
ST (R AT R TR AR T
418

Maximize (5% T et ) Z =8x+5y

subject to (9 ATATF) : 2x + ] 5.500

x+y<250
x <150
x,y=0

OR [ 94

(@) Two mixtures A and B contain glycerine

and water in the ratio 4:5 and Sk2
respectively. How many litres of B must

-be mixed with 81 litres of A so that

resulting mixture may contain equal
quantities of glycerine and water ? _

5}
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(b)
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A man invested %52,000 on % 100
shares at a discount of ¥ 20 paying 8%
dividend. At the end of the year he sells
the shares at a premium of 2 20.

Find —
() his annual dividend ;

(i) the profit earned. 5
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at 4% is ¥ 303:60. Find the compound
interest on the sum for the same period
at the same rate. 5

3
i) lim 4x° +5x~-1

|

10. (a) Evaluate (W e =) : 21,+214=5 §) ! ® (1) The simple interest on a sum for 3 years
\
|

x>® 6x° + 7 x> +4 :

4% AW @I TR 3 TR O
ok | 30360 5| OF W, 9F TSGR
lim Ya+x ~Va | ' T b e A 4 '

x—>0 x

(i7)
(b) From the 1st principle, find the

1
derivative of -ﬁ 4 5
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11. (@) Solve (T F41) - 5
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